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Question 1:
Solution: P = Rs. 6400, R = 6%, Time = 2 years
PxRxT 6400x6x2

Simple Interest = 100 100
= Rs. 768
Amount = principal + Simple interest
= 6400 + 768
=Rs. 7168
Question 2:

Solution: P=Rs. 2650, R=8%., T = 2% years = %years

Simple interest = PxRxT - 2650 =<8 x5

100 100x2
= Rs. 530
Amount = Simple interest + P
=2650 + 530
= Rs 3180
Question 3:
Solution: P=Rs. 1500, R=12%, T = 3% - l—jyears
Simole Wnterest = PxRxT _ 1500x12x13
100 100 x4
= Rs. 585
Amount = Simple interest + P
= 1500 + 585 = Rs. 2085
Question 4:
Solution: P=Rs. 9600, R = 7%%. = 1ES%T = 5 month or %yws
) PxRxT _ 9600x15x5
le Interest = -
e T TR T T T
= Rs. 300
Amount = Simple interest + P
= 9600 + 300 = Rs. 9900
Question 5:

Solution: P = Rs. 5000, R = 9%, T = 146 days or %years




PxRxT - 5000 =9 «146
100 100 x 365
= Rs. 180
Amount = Simple interest + P
= 5000 + 180 = Rs, 5180

Simple Interest =

Question 6:
Solution: P = Rs. 6400, R = 6%, Simple Interest = Rs. 1152
SIx100 _ 1152x100

Time =
PxR 6400 x 6

Question 7:
Solution: P = Rs. 9540, R = 8%, Simple Interest = Rs. 1908
SI =100 _ 1908x100

Time =
PxR 9540+ 8
=192 21 vears
4 2

Question 8;
Solution: P = Rs. 5000, R = 12%, Amount = Rs, 6450

Simple interest = Amount - Principal

= 6450 - 5000

= Rs. 1450

SI <100 = 1450 x100
PxR S000x12

29

—-23years
1 12

Time =

Question 9:

Solution: P = Rs 8250, Simple interest = 1100, Time = 2 years

SI =100 _ 1100 =100
PxT 8250x2
= 1100

e =6.67%
165 6.6
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